£ MERAISFEFRAFERR 258 6HBRKR
(2 REEXHER - ReFROH)

Bn—2
£ HBHHEIDETRE
o o — > RE%

" FRE THE BRER i m | cmEn | 2asH | oREH | RARE
1 |EA L@ 175 37 2 2 2 1.00
EEIZH 35 12 0 0 0 -
) |xeEms EE5 - BUH 210 14 0 0 0 Z
3 | KEEHE+K R 35 ) 1 1 1 1.00
ERE 35 13 2 2 2 1.00

5 |#AILFE TER 140 27 10 10 10 1.00
GHEER 3 27 2 2 0 -

6 [gEft TEFR - BHFE 210 65 8 8 8 1.00
8 |BErcH 2 i W - BRE - BB 105 60 _
EMERR - EEEAR 70 28 .00

2 4 &t 290 31 31 29 1.07

e 2h s = = 2RE&E

" A HE BRER g | sy | 2y | aREH | ZEEE
9 |EHE TEF 80 60 3 3 3 1.00
10 |BE®*E L@ 35 21 1 0 0 —
EER 35 10 1 1 1 1.00
BRER 3 30 0 0 0 -

11 [BEI% R 35 12 3 3 3 1.00
EREFH 35 20 5 5 5 1.00

BRI ATLE 35 6 1 1 1 1.00

13 |&RE% =R F 35 2 2 2 2 1.00
19 |FVETZE MR 70 3 5 5 3 1.67
TARF 35 1 1 1 1 1.00

22 |fHFrEF e L@ 57 2 1 1 1 1.00
23 | KR TEF 210 26 6 6 5 1.20
25 |mAITE — 3 9 0 0 0 Z
BExR 35 24 1 1 1 1.00

BBV XTLFE 35 3 2 2 2 1.00

26 |5 TER 60 39 1 1 1 1.00
27 |FH wezn 140 54 11 11 11 1.00
2 |[FEE ZER 70 53 0 0 0 =
ERA T« T7H 35 20 1 1 1 1.00

foog Et 395 45 44 41 1.07




o o — > RE%
" FRE THE BRER o m | cmEn | BasH | onEH | RARE
29 |FE{ldE TER 60 56 0 0 0 —
30 | KR BSREH 3 2 0 0 0 Z
HERERE 35 14 0 0 0 —
KHEDK L@ 35 22 0 0 0 —
31 | Keh @ F 160 15 9 9 9 1.00
AR 3 6 0 0 0 Z
32 | KT B E 35 10 0 0 0 —
BEXR 70 19 1 1 1 1.00
TR - BER 35 4 1 1 1 1.00
33 |ALE TER 200 52 2 2 2 1.00
34 |75 TEF - 3w 105 64 3 3 3 1.00
36 |HEFIHE TER 140 8 2 2 2 1.00
37 |[EE AR EER 18 15 0 0 0 Z
BERmE 64 25 0 0 0 —
38 | Rk TER 70 18 0 0 0 —
BEESHRAT 35 14 0 0 0 —
39 | TER 80 56 1 1 1 1.00
ACE o 80 5 0 0 0 Z
R EREE 3 19 0 0 0 Z
41 |imR TEFR - BHE 175 39 5 5 5 1.00
12 |[BReE EER 10 1 0 0 0 Z
PN 70 6 0 0 0 Z
TR 70 10 0 0 0 Z
T RS AR TER 40 31 1 1 1 1.00
43 P& L@ 70 31 0 0 0 —
B2 B i 545 25 25 25 1.00
B & F 1,230 101 100 95 1.05

E R HIDIEFE

o o — P REE
o FRE HE PRER e m | cmEs | 2REN | oREH | RARE
2 | KEEEIS TER I & (BREDOER) 35 16 3 3 3 1.00
O (REIDOER) 30 27 0 0 0 —
6 [EEF TER (BREOE) 35 3 2 2 2 1.00
= 46 5 5 5 1.00
20 [REBEE ZER % (RO 30 22 5 5 5 T 00
23 |KR5E TER (HEOE) 30 24 1 1 1 1.00
= I 46 6 6 6 1.00
33 |/t EEH 18 (FEOH 3 27 1 1 0 -
18 (FROH) 30 30 0 0 0 Z
35 |#EF TER I & (BREDOER) 35 4 0 0 0 —
OE (REIDER) 30 27 0 0 0 —
2 ™M i 88 1 1 0 -
2 & F 180 12 12 11 1.09
G 2RBEEEEE = 2REETHREN - 2REELHREN




